ZAD7F C2A LEPY £ Qict

of w2t

el

o
,AY X

M K
Y
= O
> i
<0 |
-5 ok o 51 _leT
Q O M © 0 [ W
M nru- ol a 0 b 3
o0 W < _Aln_ L
s -m = w
£ = n P
Wi ¢ B D
OT s ol T Klo KK =
W o o L m___1ooo~WA|A|oA|ow&
] = o“_o | o |w o O |o | o =
- o] = N Ko of Hio 3| slelale o |©
o R 3 AT LH SIRIR|F IR|R|S
KF < 20 Ho = 3
¢ g o Ul 0 m__m ujo
O & w = oF i olJ
> 3 n o KT
V= 5 1 ol o B
|—ID N ol o -
= S x __N.n_v Ol Kir = ol
” <+ L <F ol 20 oF I c
i ulr & M ok o 0 o  EIERIAEIES s E
o1 O _ _ oK 53 i o = 2 R
= o3 ol K Mo — 0| o <
Al KO Ko ._n_._ =< - .mvo nMu
| wmE Moo N 20 X0 W=
ml B = ol o BTy
T N ujo Ho Z Kk o B oo =
a0 — — O 5 ulo S o= N
o_w < < = ol o nrw S . Kir
MH X0 . G Kl S ok o a1 Y [ P
0| ur o H & W_._._ Ki S Lq”_ - % ~nd | ofl | ofl | ofll | oft
Hio ) el A1] I S =) X0 or oU RIT|— ||~
. HO zo = _Ar IF M#ﬁ 2 X el 70 | = =0 o oY
I = o fo o ol = <u 7 ojn N ~N b . i | 22 i | | =
(I or OF o o o s .5 = &l ol w0 el 00| <y o (T CEEE
0 T Kb E R m kL = |17 =
o KD ol =0 H - u_._w =3 oju | OF il
M 4N goaﬂemmm% 0 RO K U0 = u
o0 @ v & ™ our 2 of R0 HO 1 =
Y ob A A K KO A
v 1 1 _nm”. -
1 ‘ OH_




:16 ~ 18

(Wt%)
1Z(25kg)d = At

I

wil
mHu
Ot

/

25kg/1E 2,000kg/m

140 ~ 45L

ni0

olo

SS 701W

10| 2&X0lC}.

alA
1o

ot 7N 71A

.
[}
—

Kir

4
Jod
ol
Kk
B
= ™
= M
m —_
Au <
jod KA
I Klo
I
o
ol &
— 1o
< 5
u| XM
el
—
- X
g Bl
o m
{0 =
B
o
4r =
<
_
OA 0|
o |0
|_|__||_ _1_|_
Ko zn
84 1
0 4
=5
Re)
o <
ol LH

ol

OH
{Im

ol

AR s

=
—

- 40| 2=k

oju

ol

-
(=]
s

@ Fo A

-. 5°C O[3t



